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Question No.1

fery Rt wfarera gl 82
fay &) Ifarea sei 82
(A) O ded

T
(B) O Urd

HRA
(C) O 3R

3T

(D) O IR (Correct Answer) (Chosen option)
A

Question No.2

“SFa T3 9 o g A A9 SUsh sfagg...” — I8 IS fhd IaIBR 3l 82
“Fa ForT 9 o g A A9 Siusht sraggl... — I8 3fa frd e 3t 82
(A) O ®HeaRe™

HIRa™

(B) O AM®cd (Chosen option)
RIRGXC]

(C) O qe™m
SRHE

(D) O fa=mufa (Correct Answer)
faemafa

Question No.3

‘Amendment(3figicy &1 fedl waig F 2

‘Amendment(3fisicy &1 et waig T 82

(A) O WA (Correct Answer) (Chosen option)
GRIUE]

(B) O wrige
Tl

(C) O Iy
THbed
(D) O gdamm
gdemr

Question No.4

e fauTe =751 fora ST 9 39 forg 398 ¥ IJugad s T gRI?
forerenT fauTer T8t fora o1 W' I forg 378§ SUger Wea 1 RTI?
(A) O sffqyad

Sy
(B) O smafeq

arefed

(C) O 3AfIUTST (Correct Answer) (Chosen option)
sfaursy

(D) O srds
3GS

Question No.5

o dfckrall & raep-1fieT & TaT a1 f3geT &1 qui BIdT 8, 81 39 1 2fP U PIH-1 79 BIell 87
TS Ufekat & e -esT & T 1 faaT &1 9ui giaT 3, 98T 9 B € F HIF-1 3 B 82
(A) O g™
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(B) O 9TIIR IH (Correct Answer) EXAM PREP
R I

(C)O egydd
Sy ™

(D) ©O &3U1 " (Chosen option)
ERUES

Question No.6

T 9 S VoG HIF-1 32
T I Y g HH-TT 872
A) O wfafdE

HiafE
(B) O wfart

HicH

(C) O wafdt (Correct Answer) (Chosen option)
A

(D) O wafdfx
Hafy

Question No.7

Ul 3y RSt THe Pl Hue gon U1?
ugar fay et aier Fel qua gai um?
(A) O gryurdt
RO
(B) O de
dad
(C) O ARTYR (Correct Answer) (Chosen option)
ARTgR
(D) O =& fewht
% fawh

Question No.8

TP Weg | HH-I1 ST 82
TA:PT Teg | DH-T1 ST 52
(A) O Wrd: (Correct Answer)
Uld:
(B) O 3gera
eI
(C) O wrd (Chosen option)
Urd
(D) O »@
bl

Question No.9

“HLIH Bl BRI 1" — TH a1 B HH-I1 HRS 82
“HETD P REBR AT — I a1 T HIF-T1 FRS 82
(A) O ¥dieE ®RP (Chosen option)

IeIUH HRS
(B) O %W $R® (Correct Answer)

Y FRS
(C) O HdY ®RP

Y PRB
(D) O 3HfYHU HRS

B HREB

Question No.10

31 T faeiH Teg T R?
31 T fadiiH Teg T R?
(A)O 3T

3T

(B) O amt
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(C) O 4y (Correct Answer) (Chosen option) EXAM PREP

Yy
(D) O =d
=Hd

Question No.11

I RIS - TETaR &1 37 a7 82
T fEET - HETaR &1 37ef 37 82
(A) O o1 &1 BT HTH BT
ST S &1 S8 AT
(B) O WTEWT (Correct Answer)
TS HAT
(C) O UM &1 HeT TR AT
U T F1ST R BT

(D) O foreit ¥ fareit TH B1 Tll&l AT (Chosen option)
ot 9 fopaft o Pt e &=

Question No.12

TS AT AT Meg; PHIF-1 52
BHERBIEGIKIRNEACI A i
(A) O 3Iuga
SUYd
(B) O Hugs
SHugdd
(C) O Iude (Correct Answer) (Chosen option)
S
(D) O Sufad
RIRES]

Question No.13

“3 BT TG T8 TA'— 3 TIh o T 37 FT 572

“31 P MG T T T A ifat 1 3ref o 82

(A) O 3mg A 3if¥re® @ (Correct Answer) (Chosen option)
AT 3 P T

(B) O 3fu=t el ST
STt HRICAT ST

(€) O 3ffd =M
3% gRIRm

(D) O quf @ g
EURSEERE]

Question No.14

T A ST Teg D1’ g BT 31 &1 82
9 ¥ -1 T8 ‘B’ Ve, BT 31 T 272
(A) O j‘;

B) O ugx
YT
(C) O "R
R

(D) O &4 (Correct Answer) (Chosen option)
¥d

Question No.15

& Reaw »a 7T S 82
& feaw e T A1 272
(A) O 26 SR

26 SHAs!

(B) O 14 ffdaR (Correct Answer) (Chosen option)
14 RdsR

(C) O 15 3prd
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Question No.16

Hl-H N fod & ward amar 217 - 39 a1 § ‘it 59 ueR o1 fpafagivo 872
FH-HH R fod & ward amar 217 - 39 a1 # ‘st f59 ueRr o1 fpanfagivo 82
(A) O ®yHarEe ferarfa=mo

YHITES feranfaRs
(B) O uRHATUETE® ferarazmo

gRATUETES ferafagyo
(C) O fcarae BRIV (Chosen option)

Sfares feurfaivo
(D) O wraaTE® fFaTfa=IuT (Correct Answer)

CARCIECRERIICRLL

Question No.17

YR Tfay™ & g org g & & wrwn & gy & forg fcwr 82
YR Wfay™ & forg o g & &t v & fawry & forg fdwr 82
(A) O 348

348
(B) O 343

343
(C) O 344 (Chosen option)

344

(D) O 351 (Correct Answer)
351

Question No.18

'3[d UG T BN 39 a1l | S19-1 fpar 87
'3[d UG T BN 39 a1l | S19-41 fopar 82
(A) O fgde fopa
faede fbar
(8) O g e
g ferar
(C) O ydwifers fhaT (Correct Answer)
gdeiferes farar

(D) O WRumefes 4T (Chosen option)
TR foma

Question No.19

&I Weq BT dwwd U T 32

&I Weq HT dwd U T 32

(A) O @t (Correct Answer)
ECE

(B) O @At
Pl

(C) O Bt (Chosen option)
EEIl

(D)O BHA
BH

Question No.20

TTH ¥ HH-G U1 YRelT A o} smadl syt | =i T8t 82
T A HH-I U YR Tfaer ot sradt sy # wnfbe e 82
(A) O g:g(Chosen option)

() O “ureht
urett

(©) O dfte
GBS

(D) O =TT (Correct Answer)
TSRYTY
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“H AR T8} SIS 1" — T b TR BT a1 572
H faewr e SEM 1 — U8 {59 UHR &1 9 32
(A) O fyyrFars ared
faerara® a9
(B) O uydraeh dred
PECIECAGIC]
(C) O Iorddrs areg
Tdhdares I
(D) O fAYYQT=® aIdd (Correct Answer) (Chosen option)
fyare I

Question No.22

AW Vg | HH-91 A §7?
TATIE Ued B PHIH-TT I g2
(A) O vgsiifg a9
Sgsiife THr
(B) O gg ™
FERiEIn]
(C) O fgpuum
o1 T
(D) O YTy A (Correct Answer) (Chosen option)
TGS U

Question No.23

T ¥ - 4T Efds 1T e B2
0 q DIF-I U1 gfas y T8 87
(A) O dffrd (Chosen option)

GIEK]

(B) O wHergreH

HegrerHq
(C) O WIS} (Correct Answer)
RISt

(D) O ¥y
&l

Question No.24

ST HARTBR T B 1”7 — 39 a1 H foba {5 ob1et b7 sel oy Tt 82
oA HIRIBR M 17 — 39 a1 H 3541 {59 o1 T Syl v 1 872
(A) O T g

T 4
(B) O HMT=I 9<{M (Correct Answer) (Chosen option)

I adHE
(C) O M= Hfdwq

IR Uidwq
(D) O 3ot gdHH

gl qfH

Question No.25

Y F BRI BH 87

3ifg & i B 82

(A) O e furet
R Fét

(B) O SIURI® WHIG (Correct Answer) (Chosen option)
SOLHR YT

(€©) O gdeia Hurdt fRren
atd furdt FRre

(D) O sr™
SR

Question No.26
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T BT TG SRR g B 82 E

T P HE WU g B2 EXAM PREP
(A) O a3y
TA+3HY
(B) O 9a+39Y (Correct Answer)
T+
(C) O “qI+Tay
T+
(D) O F91+3Y (Chosen option)

Tate

Case Study - 27 to 29
3 € Ueay, AU T waral & Wt ware g -
TR e 1o IRURT Y H1ed & 11 Y BT & AR Had T, T8 W 3R ‘Fe W & T8 § fauiford 81 ur et & wrmif ot T aifdes «
T ST SN0 R ¥ T8 Sa-a1a +ft SRR P o, Toel U1, AT BT, SHITUERT sRa ST S & 0 & o1 71 S7 3R T
Ay T NG BT 3T oT| WA pradt & A M-8 F MR TR BT 10 G ofF - U T Udd e TR, G - I R F-UIR HRR, A -

@ﬁmﬁ%wﬁﬁmgw%l

g Ygay, fou U ware & el wae g -

q@?aﬁammmm%m@m%mﬁ od YT, ‘e W 3R ‘Hs W & 919 I fuiiia 31 Ui rar & urt ot T 3ifies
T ST SNGH-ITH R ¥ T8 Sa-a1a Hft SRIFeR Py o, Toel TSI, AT BT, SHaTUERT sRa ST S & 0 & o1 q1 Sd 3R T
W} I Sfia BT ST 1| U Fred § AT & Sa-6 P SUR IR oA 1t F S - U Tt Ul e TR, T - I 3R TH-UieR U=, e -
7Y 3R TR TN & T4 H fayad g 3|

Question No.27

Jgee BT IaY iy 8T A 72
A F1 e fH a7 q 72
(A) O T 3R T7-UIeR T
I 3R FH-UR U=
(B) O Hfem
PN &=
(C) O uYg deadl &5 (Correct Answer) (Chosen option)
s e &
(D) O udd qur udd actg U™
odd U1 gdd aa U=

Question No.28

TS BT Tay fbg &5 4 82
TS BT Tay fbg 85§ 87
(A) O T 3R FF-UIR U
T 3R F-UicR U=
B) O ?ffﬁ a= (Correct Answer)
oL BoE]

(C) O TBYfI 3R FOR U (Chosen option)
T 3R ToR T

(D) O udd a1 udd adia uesr
Tdd a7 udd e UeRl

Question No.29

YT AT G BT B BIA-[GHTSH P HH H HIH-T7 Tal A 82
TTRI dftre S B1ed & BIel-fAHTSH b HH § BIH-81 I A 82
(A) O g8 W, Gad T 3R B W
TS T, TEE T IR S T
(B) O &3 W, s T 3R ‘o T
TS W, TS T 3R Yol T
©O WW TS WY GﬁT ‘@8 T’ (Correct Answer) (Chosen option)
TG T, TS T 3R S FH
(0) O Hea wY, ﬁwsﬁ?s%w
Ted G, TS T 3R ‘S T

Question No.30

9 q HH-I1 Tsc B0 BT yaigar=h Tse Te) 82
T § PH-IT ec fHI0r BT yafgar=h Wee A8 82
(A) O %
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(C) O &g (Chosen option)

(D) O 9 (Correct Answer)
Ay

Question No.31

T el RTeg -1 82

TTH AT Teq HIH-91 52

(A) O WIURT (Correct Answer)
TR

(B) O IR
TR

(C) O UaNRT (Chosen option)
AT

(D) O ymuma™
IO

Question No.32

Rvar v § SF-I1 UTg 82
R Teg H PH-T1 UTT 82
(A) O g

(B O 3
3T
(C)O R
RU

(D) O 4T (Correct Answer) (Chosen option)
Gl

Question No.33

o AR I -Ta] T — S a1 B 5 YR & hanfa=iwor o7 uahT gaim g2
o WIAHR I a1 a1 — S a1 B o5 YR & fopanfa=iwor 7 vahT gaim 82
(A) O ®Fa=h

RIFarEH
(B) O uRHTUER®

URHTUETIS
(C) O dfdar®s

JAfcraras
(D) O ®raara® (Correct Answer) (Chosen option)

FIAAED

Question No.34

TS T 3 JUT B! UIG-UT qUT HHTIR MR BT HH-IT STHR HHAT ST 572
TS 7 3 JUT &I UIG-UT qUT HHTIR MR BT HH-IT STHR T ST 82
(A) O aTpifa @R

DI TBR
(B) O HAMGIHRT 3AHR

AR STBHR
(C) O 3IUNT 3R (Correct Answer) (Chosen option)

SIURNT DR
(D) O =AY 3THR

Y SABR

Question No.35

T3 3 o @t ggl Afgu 1 - S I B 5w 59 YR &7 fagivor 82
03 79 foT ot gel feu 1 - 39 I 7 28 {59 YR o1 fagivor 82
(A) O Tw=mara® fa=iwur (Correct Answer) (Chosen option)
H@ara® fagwor
(B) O Turarad fagiwor
TUraTad AR
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(0) O WA fargwor

FraiHe fagmor

Question No.36

BT, 3B <0, Ui, REBR, 3t — T e g fem o1 7= g2
BT, MBI A, Ufdeaf, REBR, *3ffelt — T e forg faen ot =918 82
(A) O IugM (Chosen option)

U
(B) O e

e

(C) O @I (Correct Answer)
PR

(D) O &/
BT

Question No.37

SRl HTed & T g ST w1 U1 goiT?
SMTeSRIT HTeg & fTT g ST w1 U7 goim?
(A) O sl $HR 7Y
e AR TR
(B) O efdR YRt
YR YR
(C) O FeRA g (Chosen option)
FeR g
A TRTAUT (Correct Answer)
ARV

(D) O

9
9
e

Question No.38

3N 11T 3T | 3| 3TH 5T UBR & 3 g2
3N 1210 35 | 3| SO f5Y UbR & 3o &2
(A) O gy g
gYEIY® 3y
(B) O 3mgrdaiee 3raUd (Correct Answer) (Chosen option)
3MeieI® 3reuq
(C) O MFNYD 3HTg
MEHHYD T
(D) O y=iErEY 3feqg
LTSN 3feqg

Question No.39

“figdt & fau g R Bem g1 - ST aeg & Y 159 yHR 7 fagivor g2
St & g R A1 - ST a1 T F {59 UHR o1 fa=ivor g2
(A) O grd-fHe =T
rdTiee fa=wor
(B) O Termar® fa=u
Tearas fagyo
(C) O TuraTaa fa=WoT (Correct Answer) (Chosen option)
TuraTaS faRiyor
(D) O uRHTUETaS faRyor
RATERS [T

Question No.40

T 5 TR BT IGTER0T DIF-1 82
T 59 WR BT IR -1 32
(A) O 3 (Chosen option)

3
B)O g

g

(C) O = (Correct Answer)
B
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BASIC LAW - CONSTITUTION AND GENERAL KNOWLEDGE - BASIC LAW - CONSTITUTION AND GENERAL KNOWLEDGE

Question No.1

For fixing the rates of Land Revenue payable on lands the lands have to be surveyed with a view to assessing
A) their extent B) their classification in regard to soils C) their fertility and yield

A IR T YA IO BT G T BA & o, YA B & SATHA DI 2P F Gde&fu1 fopan ST =fen
A) 3% fER,
B) gaI & dgH & 3% arffaun,
C) 3T IR 3R IuSl|
(A)O AandC
A3RC
(B) O BandC
B3R C

(C)O AandB
A3RB

(D) O A,B and C (Correct Answer) (Chosen option)
AB3RC

Question No.2

The term "industry" under the Industrial Disputes Act, 1947 was subject matter of the Supreme Court's consideration in which of the following case
faare sifdfam, 1947 & dgd ST ee fAufaRad B § forg ama & wdf= <marag & faer 1 faw ure

(A) O Rustom Covasji Cooper v. Union of India

XY DA HUR § 1T YR I°
(B) O Centre for Public Interest Litigation v. Union of India

H% §IH YR ¥

(C) O Bangalore Water Supply and Sewerage Board v. A. Rajjappa (Correct Answer) (Chosen option)

AR S MYfef e Hraver S g7 . Irorer
(D) O B.R. Singh v. Union of India

d1.3R. Rig s YRd ¥g

Question No.3

"Article 360" of the Constitution of India associated with which of the following subject matters?
YRA & TfauF &7 "3 g 360" Fuferiad 7 § fore fawa 3 Teifia 82
(A) O Financial Emergency (Correct Answer) (Chosen option)
CINIGEI )
(B) O Distribution of Executive Powers between the Centre and States

g AR A & I FRIGR Il BT
(C) O AllIndia Services
R Jad

(D) O Legislative Relations between the Centre and the States

Fg MR Il & I faurd d&y

Question No.4

Noida software technology park is located in which state?

T fore g # R &2
(A) O Uttar Pradesh (Correct Answer) (Chosen option)
IR TS
(B) O Bihar

(C) O Gujarat
(D) O Punjab
EEIE]

Question No.5

The spreading out and mixing of one substance with another due to the motion of its particles is called
3T BN 1 T F HROT TH Uard i guR uard & ry e s e FHEA B

(A) O Osmosis (Chosen option)
ORTROT

(B) O Diffusion (Correct Answer)
faaror

(C) O Compressibility
Futegar

(D) O Brownian motion
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Question No.6

Which Constitutional Amendment Act made the provision for the creation of "All India Judicial Service"?

o Tt T siftfagw 3 e URdtg 1 Jar & T &1 wiau fhar?
(A) O 42" constitutional Amendment (Correct Answer) (Chosen option)
4291 HauTH® WM
(B) O 22nd constitutional Amendment
2241 GauTe G
(C) O 48! Constitutional Amendment
481 U T
(D) O 28th Constitutional Amendment
2841 U T

Question No.7

What kind of complaints are not entertained by the National Human Rights Commission ?
A) Short B) Vague C) Anonymous

1 T AAAIPR ST 5 YR 3 Risrd! R fI@R 78 d=ar & 2

A) BId

B) SI¥U¥

C) Rfed

(A) O AandC
AR C

(B) O B and C (Correct Answer)
B3R C

(C) O A and B (Chosen option)
ARB

(D) O ABandC
AB3RC

Question No.8

In which year Nadir Shah, the ruler of Iran, sacked and plundered the city of Delhi?
fora o 8 XM & I AfeR 218 A feech weR &1 faedy frar ofR 3 e
(A) O 1739 (Correct Answer) (Chosen option)
1739
(B) O 1742
1742
(C)O 1735
1735
(D) O 1730
1730

Question No.9

In which year did the Indian Parliament enact a law conferring Statutory status on the Central Vigilance Commission?
YRAT TS 7 g a9 o Selia qadhdl Al &1 dUTHe guil U &= are s stffafia fear
(A) O 2003 (Correct Answer)
2003
(B) O 1999
1999
(C) O 2001
2001

(D) O 2005 (Chosen option)
2005

Question No.10

Equal Remuneration Act was enacted in the year .
T uRksfie sifdfaw, o | T T M|
(A) O 1965

1965
(B)y O 1975

1975

(C) O 1976 (Correct Answer) (Chosen option)
1976

(D) O 1966
1966

Question No.11
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Drunken driving (for a first-time offence) is charged with fine of as per the new traffic rules under t eEth n E&Pt
Hiex aTe (W) SHfIfTH 2019 F dgd U ¢fthes fgwl & IR T | MEt I (U8 SR SR1Y & far) NOIEIEIR
(A) O Rs. 2000

Rs. 2000
(B) O Rs. 4000

Rs. 4000
(C) O Rs. 10000 (Correct Answer)

Rs. 10000

(D) O Rs. 5000 (Chosen option)
Rs. 5000

Question No.12

Which of the following countries is also called "Graveyard of Empires"?
oo 7 9 ford <=1 & ararsal &1 wfsar Hf g1 9T 82
(A) O Afghanistan (Correct Answer)
SHBATAEAT
(B) O Nepal
BEIS]
(C) O Bangladesh (Chosen option)

(D) O Pakistan
LlERSIC]

Question No.13

In which of the following years, "Facebook" was founded by Mark Zuckerberg?
frofofad & § forg af o u1dh et gR1 Hags” &1 R 31 11 22
(A) O 2013

2013

(B) O 2008 (Chosen option)
2008

(C) O 2004 (Correct Answer)
2004

(D) O 2012
2012

Question No.14

Which is the state flower of Uttar Pradesh?
IR USR &T IASHIT G DI T g2
(A) O Lotus

HHA

(B) O Marigold
et

(C) O Dhak
[HED

(D) O Palash (Correct Answer) (Chosen option)
TSI

Question No.15

Promotion of International Peace and Security as a part of Directive Principles of State Policy is dealt under Article the Constitution of
T & i e a@ & T I & w0 7 SiRT T 2ify 3R Qe Sf Uraid 1, 4R & S & # Sfcafed feam T 1
(A) O Article 44
3 44
(B) O Atrticle 39 (Chosen option)
37 "G 39
(C) O Article 51 (Correct Answer)
3 g 51
(D) O Article 46
3] "G 46

Question No.16

Who has the authority to declare that, a citizen has no right to move any court for the enforcement of the Fundamental Rights conferred by Part llI
course of National Emergency? (except Article 20 and 21)

fFrafifed & 3 5 g8 aiivd 33 &1 SfIeR 5, e T &1 1 T sudeTa & TR YR Jfu™ & H1T 1 §R1 U6 e SiieR & ua
DS AHYBR TS 82 (3T & 20 3R 21 B BIGHR)
(A) O The Chief Justice of Supreme Court

JEaH AT & T iR
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(B) O The Prime Minister of India E B J U S
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(C) O The Governor of the State
g & IAUTS

(D) O The President of India (Correct Answer) (Chosen option)
HRd & ¥ _ufa

Question No.17

The number of persons living in an area of per square kilometer is called .

Tfd if fpcieieR & &atha o g aTet safdkat ot IR R

(A) O Population Density (Correct Answer) (Chosen option)
EEREE I GE )

(B) O Population Distribution
ST

(C) O Population Growth Rate
SRS gl &R

(D) O Physiological Density
IRING R

Question No.18

The punishment for Cyber Terrorism in Information Technology Act is
T RN i B geR sirdddre Y ol [
(A) O 10 year imprisonment

10 Y B} Bg

(B) O 6 year imprisonment (Chosen option)

6 a9 B Hg

(C) O Life Imprisonment (Correct Answer)
3 e

(D) O 1 crore rupees penalty
1638 3L

Question No.19

Who administers the "Oath of Secrecy" to the Prime Minister and his Council of Ministers?
T T SR 3710 AEAUREE HT U B 9y B el 872
(A) O Speaker of Lok Sabha
TBHHT Sfeef
(B) O The President of India (Correct Answer) (Chosen option)
HRA & 1_ufa
(C) O Chairman of Rajya Sabha
TS FHT & G
(D) O The Chief Justice of India
YR & T Arrefer

Question No.20

Who has the authority to make law with respect to all matters relating to the elections of panchayats as per the 73" Constitutional Amendment?
733 GAYTe RN & IR Tarra & A9 § Taifera Juft arat & ey § B T &1 feR fhad o 82
(A) O State Legislature Only (Correct Answer)
Fad Iy fauTReT
(B) O Both the Parliament and the concerned State Legislature
YR TG IR e g faenfieT gt
(C) O Parliament of India Only
Fad HRAT T9G
(D) O The Election Commission of India (Chosen option)
YRd fafe smam

Question No.21

Who is not a public servant for the purpose of the Prevention of Corruption Act?
YIER FAarRw 4R & uhied & e o149 e Jae T8 27
(A) O A contractor working on commission basis for the government (Correct Answer)

TR P T FHE & SMYR TR BT B a1l SHGR
(B) O A Judge
et

(C) O The Vice-Chancellor of a University (Chosen option)
fa

(D) O A liquidator appointed by a Court
AT gRT URYAYS
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Who fixes the number of Election Commissioners (other than Chief Election Commissioner)?
et smgat @t T (e Fafem 3mgad &) BIS®HR) B a9 &l 872
(A) O The Prime Minister of India
HRA & UYFHA
(B) O The President of India (Correct Answer)
HRA & 1_ufa
(C) O The Parliament of India
HRA TG
(D) O The Election Commission of India (Chosen option)
YR Fafed s

Question No.23

Which of the following ministries implements the "STARTUP INDIA" initiative?
fofafad & 3 S a1 Ty eTe ey 3f$aT (STARTUP INDIA)" U8d &1 @] 6l 872
(A) O Ministry of heavy industries

HIRY JENT HATeT
(B) O Ministry of Commerce and Industry (Correct Answer) (Chosen option)

Td SN HaATer

(C) O Ministry of personnel and training

FifHe SR Urieor Hame
(D) O Ministry of finance

fot Harera

Question No.24

During the initial stages of human civilization, a given extent of land used for agricultural purposes was named as .
THT T & URIS RN & SR, HY 34T & e ITaRT St I areft 4y & R & & AE Y ST ST T
(A) O Escheat (Chosen option)

(B) O Village (Correct Answer)
Titq

(C) O Forest land
ERR

(D) O Eminent domain
TN S8

Question No.25

When was National Bank for Agriculture and Rural Development (NABARD) established?
1 T pf IR arefior faery 9 (A16TS) BRI B9 g3 &t
(A) O 1947
1947
(B) O 1919
1919
(C) O 1999
1999

(D) O 1982 (Correct Answer) (Chosen option)
1982

Question No.26

Which among the following subjects was not transferred from the 'State List' to the 'Concurrent List'?
frofafed & @ oF 1 faw g Gt @ wmadf gEr § wiErand 8t fear m are
(A) O Protection of wild animals and birds

STl uRgaft SR T T wRer
(B) O Forests

aq
(C) O Bankruptcy and insolvency (Correct Answer) (Chosen option)

Y- &

(D) O Education

fRram

Question No.27

Where is the headquarters of the Southern Railway zone located?
Sferoft Yera 9 o1 greTery el fRud 82
(A) O Bengaluru
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(C) O Hyderabad (Chosen option)

(D) O Chennai (Correct Answer)

Question No.28

Who was the Secretary of State when the Government of India Act of 1919 was passed?
1919 & YRD WEHR HAIFH & TiRd 89 & THT W IT fed SIF A2
(A) O Lord Chelmsford

TS TBIS

(B) O Lord Wavell
IS

(C) O Edwin Montagu (Correct Answer)
Tsfom

(D) O Lord Willington (Chosen option)
aie fafefrest

Question No.29

Ram Janmabhoomi temple is located in which of the following districts of Uttar Pradesh?
wm@ﬁﬁkuﬂ%ﬁaﬁ@aﬁﬁmmﬁ@a%?
(A) O Jhansi

ElSll

(B) O Prayagraj
UINRIS

(C) O Ayodhya (Correct Answer) (Chosen option)
SraveA

(D) O Varanasi
RO

Question No.30

Which of the following blood groups is known as the 'Bombay Blood Group'?
frofofad 7 3 frd s gu 1 ana <€ J0' & A1 ¥ ST STl 82
(A) O AB -ve Group
AB -ve (Ifed) U
(B) O A Group
ATH
(C) O AB Group (Chosen option)
AB U
(D) O HH Group (Correct Answer)
HH qU

Question No.31

The 'Deposit Insurance and Credit Guarantee Corporation' (DICGC) is a wholly owned subsidiary of:
ST ST SR T TRE T (DICGC) %1 quf Wi aTeh Tgre Hust 7

(A) O Reserve Bank of India (Correct Answer)
(B) O Insurance Regulatory and Development Authority (Chosen option)
Citail

(C) O National Bank for Agriculture and Rural Development
1 T P &R arfior e dF
(D) O Life Insurance Corporation of India

Sita &1

Question No.32

Technical Platform on the Measurement and Reduction of Food Loss and Waste launched by
W1 BT 3R Uy & [IU 3R FHeldt R db-le! od Bl GRT @l fobam T Tl
(A) O UNICEF

() O CFTRI
T A R,

(C) O FSSAI (Chosen option)
U 0404035,

O
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Question No.33
What is the name of virtual assistant developed by Microsoft?
AP GRT fAwRyd Ul Terds (aderd SHRRee) &1 AT 31872
(A) O Alexa
(B) O Bixby
foreryit

(C) O Cortana (Correct Answer) (Chosen option)
PRI

(D) O Siri
Rt

Question No.34

What is the maximum age up to which a Judge of a Supreme Court can remain in office?
IATH AT & ey, SoH Ug W 39 31y a% 3§ 9hd 872
(A) O 62years
62y
(B) O 58 years
58 aY
(C) O 60 years
60 %

(D) O 65 years (Correct Answer) (Chosen option)
65 Y

Question No.35

Which doctrine describes that the State is only a trustee and the public is the beneficiary of all natural resources?
D 7 R Ta TTan § o 59 o T ARi © 3R A 9t wrep o Tt ot arumedf g2
(A) O Public Trust Doctrine (Correct Answer) (Chosen option)
e = fasia
(B) O Doctrine of Eminent Domain
AT 38 (SHEH) BT Rigid
(C) O Doctrine of Legitimate Expectation
ae e T Rt
(D) O Private Trust Doctrine
forott = Rigia

Question No.36

In which of the following countries the institution of Ombudsman was first created in 1809?
frofofad 7 3 e 3= o ugelt IR 1809 & Aehure (STSHH) TR ST 4T 41?2
(A) O Japan

ST

(B) O United Kingdom (Chosen option)
fbren

(C) O Sweden (Correct Answer)
LEICE |

(D) O South Africa
SO 3wt

Question No.37

Which of the following Articles of the Indian Constitution directs the State "to raise the level of nutrition and the standard of living of its people"?
YR Sfder o1 Fafiied § 3 S 91 e g B ST QRN % U % &R SR Siiad WR B ST BT R T 82
(A) O Article 37
37 "E 37
(B) O Article 17
37 "G 17
(C) O Article 47 (Correct Answer) (Chosen option)
3] g 47
(D) O Article 57
3 " 57

Question No.38

Which among the following terms is not mentioned in the Indian Constitution?
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(A) O Equality
REGI
(B) O Secular
oH-FRUa
(C) O Federation (Correct Answer) (Chosen option)
HETHY
(D) O Union
g
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Question No.39

A) any of his friends
B) relatives
C) person disclosed or nominated by the arrested person

A) 3T Tt fom
B) fR=deRY
C) TRUIR =afaaq gRT &g 7Y a1 AHifehd Afda
(A) O AorBorC (Correct Answer)
ATIBATC
(B) O BorC
BITC
(C)O BandC
B3R C

(D) O A,Band C (Chosen option)
AB3RC

Under section 50-A of the Cr.P.C. the arrest and place of confinement of a person under the Act must be informed to

R .3t B 4RT 50-A F T8, AR F Ted [t afdd ot ARTR ok iRy & M & IR & B! gferd fasan S gl

Question No.40

The legal Services Authority Act was enacted in the year .

faftre Jar ofiaor sifdfam oy # sifefrafia forar o
(A) O 1996
1996
(B) O 1982 (Chosen option)
1982
(C) O 1992
1992

(D) O 1987 (Correct Answer)
1987

NUMERICAL AND MENTAL ABILITY TEST - NUMERICAL AND MENTAL ABILITY TEST

Question No.1

Find the next term in given series.
INTELLIGENCE, TELLIGEN, NTELLIGENC, ELLIGE, ?
& 7 Juit A eRTET UG A P
INTELLIGENCE, TELLIGEN, NTELLIGENC, ELLIGE, ?
(A) O LIGEN (Chosen option)
LIGEN
(B) O LIGENCE
LIGENCE
(C) O TELLI
TELLI

(D) O TELLIGEN (Correct Answer)
TELLIGEN

Question No.2

Find the sum of the G.P.:
8/5, 8/25, 8/125, 8/625, ... to n terms.

75 TR 9oft &1 AT 1 i
8/5, 8/25, 8/125, 8/625, ...n Ual A
(A) O 2/5(1-(1/8")) (Chosen option)
2/5(1-(1/5M))
(B) O 2(1-(1/5™) (Correct Answer)
2(1-(1/5"))
(C) O 5/4(1-(1/5M))
5/4(1-(1/5M))
D) O 4(1-(1/5M)
4(1-(1/5"))
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Case Study - 3 to 4

Directions: The following line graph shows the information regarding the population of six cities in the year 20.
Study the graph carefully and answer the questions given below.
45

EXAM PREP

Al

20 17

10

=
[&]
5]
o
m
=

CITIES

ﬁ'&'ﬂ-ﬁﬁ'ﬂ:
froforiaa YT s, a9 2020 & B8 e & SR & aR § TSGR SR § (el H) |
3G BT ATTYG D AT HIOTT 3R -1 3T T8 usii & IR v

L
> an

20 17

10

=
[&]
5]
o
m
=

CITIES

Question No.3

The population of City E is what percentage more than the
population of City A?
IER E B TG AR A B S8 ¥ fram ufawra sifias 82
(A) O 42.5% (Chosen option)
42.5%
(B) O 35%
35%
(C) O 40%
40%
(D) O 33.33% (Correct Answer)
33.33%

Question No.4

Find the ratio of the population of City D to the population of City F.
G D B STRSAT 3R WER F I ST HT AU J1 HIoTg |
(A) O

(B) O
© O
(D) O

4
4
2
2:
1
1
3 : 4 (Correct Answer)
3

ArhA PP OW LOW

Question No.5

A boat goes 285 km upstream in 57 hours and a distance of 469 km downstream in 67 hours. Find the speed of the boat in still water. (In kmph)
TS 19 57 B¢ | 4RI &1 fqudia fa=m & 285 km Sl € 3R 67 6 H 469 km YRT &1 fe=m H STt 3| Wid STt § 19 1 71fd J1d BT (kmph H)
(A) O 6 (Correct Answer)

6

(B) O 12 (Chosen option)
12

€O 8
8

(D)O 10
10
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Find the Total surface area of the hemisphere (in cm?) whose radius is 42 cm and T = 3.14.

I il BT ot gETa e J1d BT (cm? H) et B=am1 42 cm § 3R = 3.14 B

(A) O 16616.88 (Correct Answer)
16616.88

(B) O 18616.88 (Chosen option)
18616.88

(C) O 19616.88
19616.88

(D) O 17616.88
17616.88

Question No.7

How many numbers up to 910 are divisible by both 3 and 57
910 & it T 3 3R 5 3 A fauTrsa 82
(A) O 62

62

(B) O 67
67

(C)O 61
61

(D) O 60 (Correct Answer) (Chosen option)
60

Question No.8

Each question given below consists of a statement, followed by two arguments numbered | and Il. You have to decide which of the arguments is a
‘weak' argument.

Give answer:

(A) If only argument | is strong
(B) If only argument Il is strong
(C) If either I or 1l is strong

(D) If neither I nor Il is strong and
(E) If both | and Il are strong.

Statement:
Should usage of cellphones be restricted in public places?

Arguments:
I. Yes, in public places like libraries, music halls and galleries, phones can annoy and ruin the experience of others.
1. No, life is impossible without cellphones

Fr fow 7T UAE Uy B U HUF 8, ITF 915 | 3R 11 & I T T § 1 e g Aok a1 § 5 I 1 9 U mEa ad § IR B 91 T e o

wa‘lﬁm;

(A) TS Fad ah | Uad &

(B) I Haw a Il e &
©)af 1T ved ®

(D) TR TN SR AE 1l yaa g 3R
(E) Tf& 1 3R 11 S e § 1

DY

T IS R TR YA o1 IudT wfasfed g anfge?

E

1. B, Trde-e R SR GRadTad!, Titd gidt ok Texi- ard =il &, i 3 gIRl &Y W 81 Tdbdt § 3R 389 ST 3Hd BRI 81 Jahdl ¢ |

I1. &Y, YTBH & {1 S eRiva &
(A) O 8

(B) O A (Correct Answer) (Chosen option)
(C)O

D)O

OO0 mw >

Question No.9

X can finish a job in 137 days. He worked for 53 days alone and the remaining work was completed by Y, in 84 days. How many days would both t
job?
X forddt ol Y 137 fat o Q1 % a1 81 39 53 &1 a siovat B o SiR [ B v 7 84 feAt & g fovan| S weh ry fope ot & Wiyl i
(A) O 68.5 (Correct Answer)

68.5

(B) O 66.5 (Chosen option)
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64.5

(D) O 62.5
62.5

Question No.10

Replace the question mark with an option that follows the same logic applied in the first pair.
LOVE : HATE :: IMPORT : ??

vy fag @1 39 fawe & ary yfawufia FIRe <t ygd g & AR aF BT SRR Ha1 g1
LOVE : HATE :: IMPORT : 22
(A) O TAX

TAX

(B) O CREDIT
CREDIT

(C) O EXPORT (Correct Answer) (Chosen option)
EXPORT

(D) O INCOME
INCOME

Case Study - 11 to 12

Directions: In the following questions, few statements are given and these statements are followed by two conclusions numbered i and ii. You hav
they seem to be at variance from commonly known facts. Read the conclusions and then decide which of the given conclusions logically follows frc
commonly known facts.

Choose,

(A) Only (i) conclusion follows

(B) Only (ii) conclusion follows

(C) Neither (i) nor (ii) follows

(D) Both (i) and (ii) follow

(E) Either (i) or (ii) follows

fa=m frdar:

frafafed vy &, $© H3F R T § SR $9 o1 & a1 & Fsp i iR i AT T &1 simuep! T U =i &1 9 71 8, M 8 3 Imra: 31d a9
T q2 B R 3faTel HRa gu Aol efifre s fow e Frsewsf 7 § & 3 ey o & f 7S THaR &1 aifhd U ¥ S8R0 3Ra g |

IO P \lrlQ:

(A) Fad (i) FIsHe STERUr Rl §

(B) Fad (i) Feery SFTER0T Bl §

(C) T (i) SR T (ii) ST BT §

(D) B (i) 3R (if) STERTT B §

(E) AT A (i) T (ii) SFIEROT AT &

Question No.11

Statements:
Some buds are colourful.
All colourful are flowers.

Conclusions:
i) Some buds are flowers.
ii) No bud is flower
HY: !
Fo Hfedl, T B
Tt &, B Bl
s ! %
i) B Pierdl, B gl
i) PIE Fel, ool TG
(A)O E
E
(B) O A (Correct Answer) (Chosen option)
©O

D)O

OO0 Ww >

Question No.12

Statements:

Some girls are boys.
All boys are men.
Some men are women.

Conclusions:
i) Some girls are men.
ii) Some women are boys.
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5B I, AleA 5|

i) $B A, ¥ 3
i) $© Afgad, TSP o
(A) O 8

(B) O A (Correct Answer) (Chosen option)
A
©)O

E

E
OO B
B

Question No.13

For three consecutive years, the costs of a product were Rs.126 per litre, Rs.252 per litre and Rs.315 per litre respectively. If a common man spen
on that product, then what is the average cost of that product per litre for the three years? (In Rs. - upto two decimals)
07 T IS & fo U ST BT Hed AT Rs. 126 Ufd wier, Rs. 252 Ufd wiex 3R Rs. 315 Ufd wiiex U7l I U 319 3MeHt 39 IdTg W Ui at
TNt ¥ fore 39 Iare &7 ufd e 3id Jed 31 8?2 (Rs. H- & ST d%)
(A) O 188.94
188.94
(B) O 198.94 (Correct Answer) (Chosen option)
198.94
(C) O 208.94
208.94

(D) O 178.94
178.94

Question No.14

Which of the fOLlOV\iing sets of signs should be used to replace * in the following?
329*51%56**_‘183?5”*‘35'““47 « Forg @ v e ¥ e R & Prafafl & & Rr Iae o1 Swd s o aifeee
:zi) C1)8 +6+_x8- (050rfect Answer) (Chosen option)
+Ex-
B)O +xx+

+ X X +

(C)O +-x=+

+-x+

(D)O + 4+ X -

++ X -

Question No.15

Pipe A can empty a tank in 54 minutes, Pipe B can fill the same tank in 81 minutes and Pipe C can fill the same tank in 108 minutes. If all three pir
minutes will it take to fill the empty tank?

TIST A, 54 fiFe § T I Tiell R bl §, UIST B I ¢ I 81 e H R TobdT § 3R UizY ¢ I &b &1 108 fire & wR Iopar 71 Ife ofiHi urst
1A # frdq e @i
(A) O 344
344
(B) O 334
334
(C) O 324 (Correct Answer) (Chosen option)
324
(D) O 314
314

Question No.16

Replace the question mark with an option that follows the same logic applied in the first pair.
CONVEY : EORVKY :: VERBAL : ??
vy fg @) 39 fawey & Ay ufawafia S St ygd g § a6 a& &1 Sgavor Ha1 71
CONVEY : EORVKY :: VERBAL : ??
(A) O XEVBGL (Correct Answer) (Chosen option)
XEVBGL
(B) O YEUBGL
YEUBGL
(C) O XEUBHL
XEUBHL

(D) O YEVBHL
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Question No.17

A person invested Rs.21500 divided into two different schemes A and B at S.I of 12.5% and 15%. If the total amount of the simple interest earned
amount invested in scheme A. (In Rs.)

T fHT =1 Rs.21500 1 IR B 12.5% 3R 15% P TR SHTS TR T 3(elT-3THT Te137 A 3R B & fawr fan| afe 2 auf § sifsia aremor s
fa=r &t 775 I @ ot (Rs. H)
(A) O 5800 (Chosen option)

5800

(B) O 6000 (Correct Answer)
6000

(C) O 6200
6200

(D) O 6400
6400

Question No.18
A number divided by 15 leaves a remainder 5. What is the remainder when the square of the same number is divided by 15?
foreft TRem Y 15 T fauIford 7 R [UEd 5 5T 31 3T e & ol 1 15 | f3vIiid et WR a1 Juwsa g1 82
(AO 8
8
B)YO 6
6
(C)O 4
4

(D) O 10 (Correct Answer) (Chosen option)
10

Question No.19

There is 20% increase in an amount in 4 years at simple interest. What will be the compound interest on Rs.47500 after 2 years at the same rate ¢
YR T U 4 T B U AR F 20% P13 B §1 I &1l @} IR 2 98 & 1€ Rs. 47500 WR Ihgfe SIS T GHTI?
(A) O 4668.75
4668.75
(B) O 4868.75 (Correct Answer) (Chosen option)
4868.75
(C) O 4568.75
4568.75

(D) O 4768.75
4768.75

Question No.20

If 25% of 400 is x% less than 40% of 510, find x. (Up to two decimals)
T 400 BT 25%, 510 B 40% & x% HH © @I, x BT HH 1 BT (3 ST dP)
(A) O 50.98% (Correct Answer)

50.98%

(B) O 52.96% (Chosen option)
52.96%

(C) O 95%
95%

(D) O 76.84%
76.84%

Question No.21

Find the number of factors in 1610.

1610 H TUMES! S T I BITo|
(A) O 16 (Correct Answer)
16

(B)0O 20
20

(C)O 22
22

(D) O 18 (Chosen option)
18

Question No.22

Select the appropriate set of sequence of mathematical operators to replace all * sign in the following equation and hence to balance it.
50*5*7*15
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+ x =
(B) O x+=
X + =

(C) O -x=(Correct Answer) (Chosen option)

=X =

(D)O -+

Question No.23

The ratio between the number of males and females in a college is 23:24. If the number of males are increased by 20% and the number of female
the new ratio of males and females in the college?

%&ﬁafnﬁﬁrﬁgw‘f 3R Tfgensit &t T@ & g BT AU 23:24 71 TS TIUI 1 WA H 20% AR Afgansii 31 We & 30% B gfg &1 St g, A Bl
R ?
(A) O 25:26 (Chosen option)
25:26
(B) O 26:25
26:25
(C) O 23:26 (Correct Answer)
23:26
(D) O 26:23
26:23

Question No.24

Directions:

Study the following Line-chart and the data provided to answer the questions that follow:

Sales of 3-different companies A, B and C selling mobiles for the given years 2001, 2011, 2021 and 2031.(in thousands)
Which year Company B has maximum sale ?

1200

1050

900

730

600

450

300

150

0
2001 2011 2021 2031
=g Company & B20 1020 aa0 720
=g Company B 1020 750 1090 1070
g Company C 560 690 790 850

=—g=—Company A =—w=CompanyB =—g==CompanyC

A=
fafeiaa usif &1 I 31 & e g 3T 3 3R U HRIU 7T SIS BT ST P
fau T 9y 2001, 2011, 2021 3R 2031 P T HZA ST AT 3-HTA-FEAT HUFT, A, B 3R C B fashl| (FWIRT )
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1200
1050
500
750
600
450
300
150
2001 2011 2021 2031
=g Company & B20 1020 980 720
=—g=={Company B 1020 750 1090 1070
=g Company C 590 690 790 830
=—g==CCompany A =—g@==CompanyB ==g=_CompanyC
(A) O 2011
2011
(B) O 2021 (Correct Answer) (Chosen option)
2021
(C) O 2031
2031
(D) O 2001
2001

Question No.25

After walking 8km, a boy turned left and walked 3km. He then took a left turn and walked 3km. If he stood facing North-East direction finally, towar
8km?

8 km @ & F1E, T ASHI IT¢ GST 3R 3 km @l I8 R A1E TT 3R 3km Tl | IfS I8 3ica: JTR-Yd o= Bt 3R Hg Hb WST 7, A U8 8 km ¢
(A) O South-East
cfamrgd
(B) O North-West
ITR-UEH
(C) O North-East
STR-qd
(D) O South-West (Correct Answer) (Chosen option)

Question No.26

What value should come in the place of question mark (?) in the following question?

V17.64 X vV9.61 + V4.41 x /38.44 =?

frafofad uy & vy fog (7) & I W &1 94 377 91l

v17.64 X v9.61 + v4.41 x /38.44 =?

(A) O 23.01
23.01

(B) O 35.26
35.26

(C) O 24.04 (Chosen option)
24.04

(D) O 38.44 (Correct Answer)
38.44

Question No.27

Rearrange the word in question and find the option most similar in meaning to rearranged word.
EMRPIT

Uy B foU M Wsg &1 gfafRyd ST 3R gHfafRd g & T TaM 3 a1 fased &1 797 S|

EMRPIT
(A) O REFUSAL
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(B) O LICENSE (Correct Answer) (Chosen option)
LICENSE

(C) O PROTEST
PROTEST
(D) O BAN
BAN

Question No.28

Solve:

56-[35-{18+6 -(18-20+4)+1:

ESEAISLE

56-[35-{18+6 -(18-20+4)+1:

(A) O 26
26

(B) O 25 (Chosen option)
25

(C) O 23 (Correct Answer)
23

(D) O 27
27

Question No.29

A's 32" pirthday is on 20t February which falls on Wednesday of a leap year. What will be the day on his 341" birthday?
T STy (ciia aef) F A BT 3241 ST 20 TRAS Bl 31T 8, S FUAR B 8| 39 349 SFAEH TR B4 T i3 gme
(A) O Thursday

T2dR
(B) O Sunday
fdaR

(C) O Saturday (Correct Answer) (Chosen option)
TR

(D) O Friday
RhdRR

Question No.30

A tradesman marks the price of his goods such that after allowing a discount of 20%, he earns a profit of 20%. What is the marked price of an artic
Rs.)
TP AR ST AT BT Hed 39 a6 9§ 3ifdhd Rl 7 b 20% e 37 & a1 Ht I8 20% a1 T a1 31 afe a¥g &1 9 Hed Rs.21100 © Al SHBT
(A) O 31650 (Correct Answer)
31650
(B) O 34650 (Chosen option)
34650
(C) O 33650
33650
(D) O 32650
32650

Question No.31

Abu and Dhana started a partnership business investing some amount in the ratio of 4 : 3. Suman joined them after six months with an amount eq!
should the profit at the end of one year be distributed among Abu, Dhana and Suman?
3G 3R YT 4:3 F U & T R BT A FHA §U TH WIRIGRY HIWT YR {71 oA, YT F SRI6R IR & 1Y B AR 1A & 918 I T1Y =M
GHA & &9 ford rura & Ay faaRa foean S anfgee?
(A) O 3:6:8

3:6:8
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(C) O 8:3:6
8:3:6
(D) O 6:3:8
6:3:8

Question No.32

Find the smallest 4 digit number which if divided by 9, 12, 15, 18, 36 leaves remainder as 7.
4 3T B YIY BIS T J1d B B 9, 12, 15, 18, 36 F Ui fory o &R QAwwa 7 I@aT B
(A) O 1080
1080
(B) O 1087 (Correct Answer) (Chosen option)
1087

(C) O 1100
1100
(D) O 1073
1073

Question No.33

Directions:

Study the following Line-chart and the data provided to answer the questions that follow:

Sales of 3-different companies A, B and C selling mobiles for the given years 2001, 2011, 2021 and 2031. (In thousands)
How much percentage of sale has been decreased from 2011 to 2021 for the company A? (Up to two decimal)

1200
1050
S0
750
600
450
300
150
0 2001 2011 2021 2031
=g Company A B20 1020 930 720

==g==Company B 1020 750 1090 1070
g Company C 580 690 790 830

=—g==C"ompany A =—g==CompanyB ==g==_CompanyC

A

frafeRad usil o1 IR 37 & forg g T SR iR IUT BRIT Y bS] BT 3eag e

feum ad 2001, 2011, 2021 3R 2031 F U AT ST AT 3-3THT-31EHT HU, A, B 3R C FI faeh | (FWIRT H)
HUT A P 1T 2011 | 2021 T b ufawrd st o g3 872 (31 SIHAd a)

1200
1050
900
750
600
450
300
150
o 2001 2011 2021 2031
=g Company 4 B20 1020 990 720

=g Company B 1020 750 1090 1070
g Company C 560 690 790 850

=—g=—Company A =—w=CompanyB =—g==CompanyC

(A) O 3.65% (Chosen option)
3.65%

(B) O 2.94% (Correct Answer)
2.94%

(C) O 4.56%
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7.84%

Question No.34

Directions:

Study the following Line-chart and the data provided to answer the questions that follow:

Sales of 3-different companies A, B and C selling mobiles for the given years 2001, 2011, 2021 and 2031.(in thousands)
How much percentage company B has sold more than that of company A over all the given years.(Up to two decimals)

1200
1050
900
750
600
450
300
150
o 2001 2011 2021 2031
=g Company 4 B20 1020 990 720

=g Company B 1020 750 1090 1070
g Company C 560 690 790 850

=—g=—Company A =—w=CompanyB =—g==CompanyC

=

fafeiad usii &1 I 37 & e g 3T 3R 3R U HRIU T TS| BT ST P

fegmay 2001, 2011, 2021 3R 2031 F T HiSTST TT ATl 3-3THT-3(THT HU, A, B 3TR C FI {91 (TSRS H)
feu g gt auf A, Su B 3, HU A F b uforrd 3ifie Bt fasht 1 B 1 (S gxHd )

1200

1050
750
450

150

2001 2011 2021 2031
=g Company & B20 1020 980 720
=—g=={Company B 1020 750 1090 1070
=g Company C 590 690 790 830

=—g==CCompany A =—g@==CompanyB ==g=_CompanyC

(A) O 16.54%
16.54%

(B) O 10.7% (Correct Answer)
10.7%

(C) O 20.75% (Chosen option)
20.75%

(D) O 15.45%
15.45%

Question No.35

If a mirror is placed on the shaded line, then which of the following options is the mirror image of the given figure?

https://upprpbcivil.onlineregistrationform.org/QP3/krOHWN4uEpLepXruvFg3sQ==.html 26/42



View Question Paper m BYJ U.S

22222



12/10/21, 6:51 PM View Question Paper E BYJ U .S

Alzteds
AXrERD
AXvERD

Question No.36

(D) O

A shopkeeper sells two bags for Rs.5500 each. On one, he gets 23% profit and on the other he gets 23% loss. Find his profit or loss percentage fc
TS GHIFER &l I BT Rs.5500 YAH & Hed TR 39T ¢ | T IR I 23% AT U BIT § 3R GER TR 3 23% B1H Bl 81 TR A & o 39T @
(A) O 5.29% loss (Correct Answer)

5.29% BT
(B) O 4.29% profit (Chosen option)

4.29% Y
(C) O 5.29% profit

5.29% ¢4
(D) O 4.29% loss

4.29% BT

Question No.37

What should be written in the place of question mark in the given series?
B2, E3, ?, K7, N11

& 7€ Joft A vy g & == W T4 @ smeme
B2, E3, ?, K7, N11
(A) O G6

G6

(B) O H4 (Chosen option)
H4

(C) O HS5 (Correct Answer)
H5

(D) O G5
G5

Question No.38

A train travels from Chandigarh to Faridabad at a speed of 86 km/hr and returns at a speed of 88 km/hr. If it takes 174 hours for total travel, then fii
to Faridabad. (In Km)
TP ¢ 911G q WRIGEIE I 86 kmn/hr @ ATd J TEd! § 1R 88 kmn/hr B AT J A0 3T 81 1S IET H 174 6 @ §, A ISNTG 3IR BRiae
(A) O 7668
7668
(B) O 7468
7468
(C) O 7568 (Correct Answer) (Chosen option)
7568
(D) O 7768
7768

Question No.39

A mobile is sold for $11715 at a loss of 45%. What would have been the actual profit or loss percent on it, if it had been sold for $298207?
TH SIS Bl 45% B g TR $11715 T 321 ST 31 3fE 3/ $29820 H ST S, A S0 WR AR A1 I1 BT BT HfA=ra 1 gien?
(A) O 44% Profit
44% <Y
(B) O 40% Profit (Correct Answer)
40% <Y

(C) O 42% Loss (Chosen option)
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(D) O 46% Loss
46% BT

Question No.40

In this question, a statement is given followed by two conclusions numbered i and ii. You have to assume everything in the statement to be true, th
together and decide which of them logically follows beyond a reasonable doubt from the information given in the statement.

Statements:
Girls native to Seoul will definitely get married at the age of 23. Beni is a 24 years old girl.

Conclusions:
i) Except Seoul girls, girls in other cities marry before 23.
ii) Except Seoul girls, girls in other cities marry after 23.

Choose the appropriate one from the following options
(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Either i or ii follows

(D) Neither i nor ii follows

(E) Both i and ii follow.

YUY T, TF HUF & 915 &) Fewy | 3R i f3T T &1 3! Hu= &t Iguf TRt &) w71 8, R gl st R U O faam a3 8 iR e
1 e wo & & T8 THSHRY F1 Ifed WE W R dlfhd ¥ Y SR B 5|

DY
e o) gar Farh asfeal @t k) 23 e @t 39 # Fifdd 0 8 3 v 24 T B dsdt 71

frsp:
i) et & dsfal &) BlsHr, T VR 3T Asihal 23 d J Ugd S FR Al 8
i) e ot defnal o1 BieHs, R e 3 dsiHar 23 I F d1g WS H g

fafifed el § 9 Sugad Th &1 99 Bifog
(A) Fadt FIpY | STIRTT BT &

(B) Faet FIsH i SFEROT Bl

(C) TN A i T i SHTERVT HAT &

(D) T i 3R T i STER Bl § 3R

(E) i 3R ii G 3FERUI v B

(A O 8

(B) O D (Correct Answer) (Chosen option)
©O

(D) O

>> Ww O

MENTAL APTITUDE - INTELLIGENCE -TEST OF REASONING - MENTAL APTITUDE - INTELLIGENCE -TEST OF REASONING

Question No.1

Which of the following Articles makes provisions for reservation in the appointment of posts in favour of any backward class of citizens?
frofofad B Y e a1 o g AT & faradt oft fUss avf & foa & uei o) Fgfaa & smRemr &1 grae™ avar 32
(A) O Article 16 (Correct Answer)
3] "G 16
(B) O Article 35
37 "€ 35
(C) O Article 26 (Chosen option)
37 "G 26
(D) O Article 15
37 "G 15

Question No.2

All the persons in a row are facing North, A is 18! from right and B is 25t from the right. If A and B exchange the positions, what is the position of
the row?

% tfda & 9t e IR B e §, A TS 3R ¥ 183 RIM IR g 3R B T18 3R ¥ 250 M W g1 I A 3R B RIF! &I 3109 H TRER &M @, <
AfFaRMAWRE?
(A) O 18 (Chosen option)
18
(B)O 19
19
(C) O 16 (Correct Answer)
16
(D)O 17
17
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Question No.3 EXAM PREP

In this question, relationship between different elements is shown in the statement. This statement is followed by two conclusions:

Statement:
K>I>T=C;N=2E>H=<C

Conclusions:

NK>T

ii)l>H

Choose the appropriate one from the following options
(A) Only conclusion i follows

(B) Only conclusion ii follows

(C) Either i or ii follows

(D) Neither i nor ii follows

(E) Both i and ii follow

39 Uy H, HuT § RAft adl & die Jdy c2ifar T 21 59 By & 91 &) ey feu m §:

HY:
K>I>T=C;N2E>H=<C

forep:
HK>T
i) 1> H
frafaRad fawedl & 3 Iugad faswed g

(A) Had FISHY | SFTERUT HRAT §

(B) Had fSHY i STERUT BT §

(C) ar sy | AT i STEROT Bl §

(D) 71 &1 Fshef i 3R 7 i SRV BT §
(E) S Fom i TR FISm i SITRR0T vl
(A) O

B)O
(©) O

(D) O E (Correct Answer) (Chosen option)

mmoo Tw >>

Question No.4

If in the number sequence 763125756 21 8, all the odd numbers are increased by two and all the even numbers are decreased by two, then
in ascending order, which will be the sixth number from the right?

I GBI S IHH 763125756 2 1 8 H, Tt fawm Gamaif & & &t 3fs Bl & R Wit 9w Temsht # 4 1 &1 S gieh 5, bR U AT 3 H B -
1% 3R I Bad! WA HH T gRfe
(A) O

(B) O
(©) O

(D) O 5 (Correct Answer) (Chosen option)

o OO0 b WOW

Question No.5

In a certain code language, if AMBER is coded as ZNYVI, then how is DREAM coded in that language?
& A% e uTor B, afd AMBER &Y ZNYVI & =0 § G a1 ST 8, df DREAM &I 39 YT & $HY Feds fhaT oirdT 82
(A) O GUHDP
GUHDP
(B) O wiuzm
WIUZM
(C) O GVDHP
GVDHP

(D) O WIVZN (Correct Answer) (Chosen option)
WIVZN

Question No.6

Find the next number in the series.
572, 495, 409, 314, 210, ?

Soft & spTelt TeAm Frd FHifo|

572, 495, 409, 314, 210, ?

(A) O 95
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(B) O 96 (Chosen option) EXAM PREP

96

(€©) O 99
99

(D) O 97 (Correct Answer)
97

Question No.7

Find the next number in the series.
2,4,10, 32,130, ?
SO T STeH AT 1 BifoTg |
2,4,10, 32,130, ?
(A) O 651
651
(B) O 652 (Correct Answer) (Chosen option)
652
(C) O 653
653
(D) O 650
650

Question No.8

Kumar's father Arun's son Shankar's wife Hema is the daughter in law of Kumar's father's wife Prema. How is Prema related to Kumar?

PUR P AT 301 & I PR BT Tell TAT, FAR & T b1 Uell OHT b1 9 T | UHT T HHR F 1 Faief 32
(A) O %egper

(B) O Daughter
et
(C) O Mother (Correct Answer)

|t
(D) O Son (Chosen option)
CGl

Question No.9

Replace the question mark with an option that follows the same logic applied in the first pair.
52:14::57: 7
TYRIE B I [Iey I ufawfia HiTe St um g o A dd T SHR0T Rl 7
52:14::57: ?
(A) O 23
23
(B)O 26
26
(C)O 25
25

(D) O 24 (Correct Answer) (Chosen option)
24

Question No.10

In which of the following places "Paramhans Mandali" was founded?
Frafafed & 9 f5d R W "RAg Heel” BT R0 &1 715 61?
(A) O Calcutta (Chosen option)

EaNEasll

() O Delhi

(C) O Madras
Had

(D) O Bombay (Correct Answer)
i

Question No.11

Which one of the following images numbered as (1), (2), (3), (4) will be the next image for the given series?
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AN

74

O

O

%

N

O L
2

O
IL/////

O
%

N

O

(1)

(2)

fofarad (1), ), (3), (4) ¥ it oA A 37 < 7 JRaar & fag sareh ofa grfte

(3)

N

O

/

A) O 4 (Correct Answer)
4

O
u/////

(1)

Question No.12

Which one of the following alternatives will perfectly complete the given figure?
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by

FafiRed fawedl & ¥ 3 91 fawed 1 715 SMpfd & STHT ¥ T HIM?

By

(A) O

B) O

=
=
=
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=

©O

(Correct Answer) (Chosen option)

7
4
vl
vl

(D) O

O
O

Question No.13

Which article of the Indian Constitution specifies that 'Untouchability is abolished and its practice in any form is forbidden'?
YR Ay &1 &1 11 3] & FFEE Fvan 8, 6 ' sRygar &1 g o o mar g SR frht oft &0 o e snary affa g2
(A) O Article 54

3 "< 54
(B) O Article 17 (Correct Answer)

3 17
(C) O Article 36

37 "G 36
(D) O Atrticle 23 (Chosen option)

37 "G 23
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Question No.14

A box containing the denominations of twenty five paise coins, fifty paise coins and two rupee coins amount to Rs. . There are equaRum er of
total number of fifty paise coins in the box.
TF IR A U= O, O O SR & v & geuat & R §, M $ g Rs.660 81 I geua! & Rigw! ot e 90 71 99 B Uen 09 3
(A) O 250

250

(B) O 240 (Correct Answer) (Chosen option)
240

(C) O 220
220

(D) O 230
230

Question No.15
If all the vowels are removed in the English alphabet series, which letter will be the eighth to the right of the thirteenth letter from the left?
Ife; 3o qutmTer e & T WY &1 ger fmn Srar B, d a1 aREd 31eR B 318 SR F SHTSal &R BHIF FT g2
(A) O W (Chosen option)
(B) O
©O
D) O

(Correct Answer)

NN << XX s

Question No.16

In a certain code language, if TWENTY is coded as WTENYT, then how is ANIMAL coded in that language?
T fd He T H, afE TWENTY &1 WTENYT & FU H Heds [l 9l 8, @ ANIMAL $1 38 HTST & 38 Feds (bl ol 52
(A) O NAMILA

NAMILA

(B) O NAIMLA (Correct Answer) (Chosen option)
NAIMLA

(C) O AINAML
AINAML

(D) O MALANI
MALANI

Question No.17

Which of the following rank officer is the head of the police force in Uttar Pradesh?
' [ @ P SR U A IRy 5ot T T Bl 82
(A) O Commissioner of Police
fers Sy
(B) O Assistant Sub Inspector
RN REACEAENAED
(C) O Superintendent of Police
gferd srehars
(D) O The Director General of Police (Correct Answer) (Chosen option)

Question No.18

How many squares are there in the given figure?
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IS afrpfer H febar ot 87

(A) O 21
21
B O 18
18
(C)O 24
24

(D) O 20 (Correct Answer) (Chosen option)
20

Question No.19

Who among the following gave the famous dictum "Religion is the Opium of the People" ?
oo & 9 fosem ond Al ot oty B UG Sfaa & ot 2
(A) O Jawaharlal Nehru
TATER AT g
(B) O Max Weber
EEREER
(C) O Karl Marx (Correct Answer)
BT AR
(D) O Emile Durkheim (Chosen option)
A g

Question No.20

Four of the following five are alike in a certain way and so form a group. Which is the one that does not belong to that group?
B,I,Z, X F

fofafad ofe & 9 IR te RiYd o I T o § 9k 3Ufit Ueh g 5914 § | 98 faden 319 A1 8, ot 39 g I Yefid 76l 32
B.I,Z X,F
(

|
) O X
X
(B) O I(Correct Answer)
|
(C) O Z (Chosen option)
4

OO F
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Question No.21

If all the vowels are removed in the word CHARACTERIZATION, then the letters of the word are arranged alphabetically, which letter will be secor
right? ]

If¢ CHARACTERIZATION g ¥ Tt TR1 &1 gt faan oimn 8, o reg & 31erY & quiiery & orafyd fosar ordr 8, Y e ¥ B8 31&R & a8 garT
(A) O R (Chosen option)

B)O
©O0

(D) O

(Correct Answer)

OO IT ZZ X

Question No.22

Pointing to a girl, a man said, She is the daughter of my grandmother's only child's husband's only son's wife." How is the man related to the girl?
TP TSB! DI 3R Yobd B §Y, U ATGH = HgT, T8, A FS-HeR B 3dhalidl JaH & Ufd & IHald 9 I Ual B 91 g 1" I 3MeH & asdh! I 7
(A) O Father (Correct Answer)

foar

(B) O Cousin
B
(C)O U.ncle (Chosen option)

3fhd
(D) O Brother

Question No.23

The procedure of filing a First Information Report(FIR) is prescribed in which of the following sections of the Criminal Procedure Code, 19737
Y T RUIE (T, 3MTS.31R.) T1RIT = Bt Ufsha < Ufehan fgarn, 1973 @t Fafafad & 9 frg urr o Feffia 82
(A) O 197 Cr.P.C.
197, &S Ufshan dfgan
B) O 173 CrPC
173, &S Ufsha dfgd
(C) O 154 Cr.P.C. (Correct Answer) (Chosen option)
154, <8 Ufshar Afgar
(D) O 163 Cr.P.C.
163, TS Ufsha wfgd

Question No.24

Read the following statements and answer the following question.

M2N means M is the husband of N
M4N means M is the wife of N
M6N means M is the sister of N
M8N means M is the brother of N

In the equation P2Q6R6S, how is P's daughter related to S?

fafafaa syl &1 ufeu iR Fafiiad uy o1 3w dfml

M2N &7 3f g M, N BT Ufd &
M4N &1 3 g M, N &1 Ut &
M6N T 3f g M, N Pl sgT 8
M8N 3T 312 & M, N T 4TS §

THIHROT P2Q6R6S H, P &1 ¢t BT S W T Ty 82
(A) O Sister

g8
(B) O Cousin (Chosen option)

EaEl

(C) O Niece (Correct Answer)
Bk

(D) O Aunt
3

Question No.25

Find the odd image out in the given series.
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L \ T H
R 74 X
28 36 44 30
(1) (2) (3) (4)
TS el H F SRATA Bfa 19 BT
L \ T H
R N 7 X
28 36 44 30
(1) (2) (3) (4)

(A) O 2 (Correct Answer)
B) O
(C)O

DO)O

(Chosen option)

AR a2 OO DN

Question No.26

Replace the question mark with an option that follows the same logic applied in the first pair.
Inflate : Understate :: Deter : ??

vy fag 31 39 fAwe & ary yfawnfia ¥ St ugd 39 & a6 9 ST AR HIaT1 3|
Inflate : Understate :: Deter : ??
(A) O Stop
Stop
(B) O Prevent
Prevent
(C) O Hinder
Hinder
(D) O Encourage (Correct Answer) (Chosen option)
Encourage

Question No.27

How many such 3s are there in the following number sequence which are neither immediately preceded by 5 nor immediately followed by 9?
9395395939372353953958637
frafeRad TReam sy & U fha 3 8fcs §, oo i Ugd 5 7161 § SR 3l a1g # 9 el €72
9395395939372353953958637
(A) O three (Correct Answer)
d=

(B) O two (Chosen option)

(C) O five
CIEl
(D) O four
IR

Question No.28

A girl starts at point A and walks 6km towards South, turns right and walks 8km; turns another left and walks 2km. She then takes a right turn and
She then walks 4km towards East and turns left and walks 12km to reach B. How far is A from B?
TP TSB! fig A T IaT RH IRl & AR SFE07 BT 3R 6km et 7; R ¢ Goell § MR 8km Tl §; THEAR 3R &1E TSt § IR 2km Facht g1 R
I8 I g8 & F1E 4km T 81 98 R gd Y 3R 4km Tt 8 SR a1 Gt ¢ 3R B I Ugan & foTT 12km I 81 B & A &1 gt fraft 82
(A) O 17km

17km

(B) O 13km (Chosen option)
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(C) O 12km (Correct Answer)
12km

(D) O 15km
15km

Question No.29

Which of the following numbers in the Venn Diagram represents both male and female judges?

(A O 2
2

(B) O 3 (Correct Answer) (Chosen option)
3

() O

7
7
D)O 5
5

Question No.30

Read the information carefully and answer the following question.

A+B means A is the father of B
A-B means A is the mother of B
A*B means A is the sister of B

A/B means A is the brother of B

In the given expression M*N*O/P, if P is male then how is M related to P?

SHPRI & & ¥ U 3R Fufifad vy o1 W S

A+BHII A BT
A-BHTIIEA BHIATR

A*BHTAIEA BIHITEIR
A/BHTIITA BBHIUE

f&u T o M*N*O/P ®, TfE P g¥ & It M T P & T TalY 82
(A) O F;g;\er

(B) O Brother (Chosen option)
(©) O Mwother

|1
(D) O Sister (Correct Answer)
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Question No.31

Which of the following sections of the Indian Penal Code defines 'Dowry Death'?
YR &S Aigdm &t HufiRad & 9 S € URT 'Ggol 5T B URHINT Bt 572
(A) O 120-B of IPC (Chosen option)

HRA 8 Hfge B 120-B
(B) O 427 of IPC

HRA S Hfgd B 427
(C) O 1300fIPC

HR19 <8 Hfged Bt 130
(D) O 304-B of IPC (Correct Answer)

YR &3 Hfgdr 3t 304-B

Question No.32

In a dice, each face is colored as follows:
1) Green is opposite to orange

2) Violet is opposite to Pink

3) Maroon is opposite to Black

Which of the following is definitely false?

A) Maroon is not adjacent to Pink and Violet
B) Green is adjacent to Pink

C) Maroon is adjacent to Orange

D) Violet is adjacent to Green

TH TN H, T Had & I 39 PR &
1) &1, TR W b RAuda @

2) SR, TSt 7 & faua §

3) B, B1al W1 % fauwdia §

fafafed # 9 o8 91 a9 § Ted 82
A) B354, et SR SR 3 & afeebe el R
B) &1, T[allalt T & Ffadhe §

C) B, I T & wfape §

D) ST, B 30 & Ffeiehe @

(A O g

(B) O A (Correct Answer) (Chosen option)
@O0

D)O

OO0 OO »

Question No.33

Find the missing term in the given series.
12, 60, 65, 325, ?, 1650
& 12 goft ¥ g T F1a S|
12, 60, 65, 325, ?, 1650
(A) O 330 (Correct Answer) (Chosen option)
330
(B) O 340
340
(C)O 335
335
(D) O 345
345

Question No.34

A boy walks 4km towards West, turns right and walks 7km; turns left and walks 22km and reaches the destination. What is the distance travelled b
TH ASHT UHH B 3R 4 km Tl §; TR <18 g1 § 3R 7 km Il &; AR ¢ &1 § 3IR 22 km IadT € 3R Tda d% Ugddl ¢ | dSd gRI ag &t
(A) O 36km

36km
(B) O 33km (Correct Answer) (Chosen option)

33km
(C) O 41km

41km

(D) O 38km
38km

Question No.35
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How many persons are there in the row?

&

(A)O 6
6

(B) O 10 (Chosen option)
10

(©0O 8
8

(D) O 11 (Correct Answer)
11

View Question Paper m

A and B are facing North, starting from extreme right A moves to the 5th place in left and starting from extrem

BYJU'S

padinfight

A 3R B IR $I 3R TG §, TN BR I Y& IR A 15 3R Tiad RIF TR ST § 3R §18 BR I [R= §1R B a3 3R T R WS 51 3T A, B

Question No.36

Ifa=110,b=5c=4,d=7,e=6,f=3, then
atb+exc-fxd=7?
gida=110,b=5.c=4,d=7,e=6,f=3,@
a+tb+exc-fxd=7?
(A) O 25 (Correct Answer)

25
(B) O 32 (Chosen option)

32
(C) O 45

45
(D)O 28

28

Question No.37

10

10

A)O 9

9
(B) O 4 (Correct Answer) (Chosen option)
© O

(D) O

NN == b

Which of the following numbers in the Venn Diagram represents persons who like only 'tea and milk'?

A - Persons who like Coffee

O— Persons who like Tea
: == Persons who like Juice

== Persons who like Milk

3 v H Proferid & § o1 T e 3 cafdl @ cwifd @ R Paa 7 ik gy wdie 872

: == Persons who like Coffee

O— Persons who like Tea
: - Persons who like Juice

== Persons who like Milk

Question No.38

(A) O Bind (Chosen option)
Bind

Choose the alternative which is an odd word/number/letter pair out of the given alternatives.

95 fabey g ot U T fasredl o @ T SRiTTd ec/ARS1/31ER g Bl
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(C) O Fix
Fix

(D) O Detach (Correct Answer)
Detach
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Question No.39

In this question, a passage is given followed by a statement. Read the passage carefully and judge the statement based on the given pa:
The strong olfactory sense elephants are known for has come as a blessing in disguise for the police in curbing illicit liquor trade in Uttarakhand’s |
animals find lahan, the substance used for brewing liquor, hidden in forests of Khatima in the district, and destroy them. Manufacturers brew it neai
the villages to avoid police raids as flowing water is required for fermentation.

Lahan is sealed in barrels or polythene bags and buried for four to five days for fermentation. Elephants reach the spot by smelling the substance :
liquor, said Yogesh Upadhaya, inspector, Khatima police station. He said some traders keep the barrels on scaffoldings on trees but they are easil\
destroyed thousands litres of lahan in the past 2-3 months. They were stored in barrels on scaffoldings,” said Yogesh Upadhyay, inspector. “Miscre
keep them away from elephants.

Elephants find them and destroy the barrels to consume the substance, causing heavy loss to the manufacturers,” he added. A villager, said: “The
in villages. Since it is cheaper than liquor available in the market, people buy it even after knowing its impact on health. Elephants are playing vital

Statement:
Water is not required for the fermentation of the liquor, Lahan.

Choose the appropriate one from the following options
A - The statement is definitely true.

B - The statement is probably true.

C - The statement cannot be determined.

D - The statement is definitely false.

T UY H, U9 TR & 916 TS $Y 391 791 71 I $T 4 | U MR T T MW F YR R YA BT HaA |

Breft forT T 7T WaET 3 oY o STl § 9 ITRIGS & SYTRig 7R fTd & $idy IRT9 & HRIGR TR 3G A 7 Gferd & g sicaef furer
W & g1 | 50 yerd @16 &Y ged &, S INTE & e & forg swidTa faman 9 aren U uerd B, ofR U 8 AR 3d § | INTE FA aTd, Gferd & §
B AT & U SHHT e $Rd § i THR0 & U 95T g3 5Id SHTa<a e gl 5|

T 1 SRel AT Ufeilef 71 7 et R faay Sirelt § ok @wiRur o forg A & uier a1 & forg g fea Simen 81 @etan um & FRieres = Surery = e
TR Ugad & IR IRTE BT Ja9 B P 17T S B 98 P 4d ¢ | I6IH Hel [ $S ATUR US| P SHUR HIAM! IR ok 3@ § W ERT 38 3N
fFrtere 7 o1 “5H ol 2-3 AT # §OIRT oliex a1e 1 8 a1 81 3 A 0 okl & 9K 9,"| 361 el "SGHI a6 P oxa Bl gl ¥ g3
Terf &1 Ja A & T % Gad ¢ 9IR R &I T8 IR 3d 7, ORI IRTE § aTall &1 U T gial 87 | T Urefior 3 g, “Tiial & IRTE 80 F 100
FIOR B Iues IRTE F T 8, TURTT TN WG WR T YU B A & a1 Hf 38 @died 81 872t AR W 3iger e & wgeayuf yfirest g

DY
e IRTE & fobuad & fore ol ) sazaehar =gt gt 21

ﬁaﬁrﬁ@aﬁwﬁﬁﬁﬁ?@ﬂﬁ

A-wHE AT U T
B - HYT IS I B
C - By Fffia 7Y fbar o gebar 21
D - B g U ¥ e g
(A)O A
A
B)O B
B
(C) O D (Correct Answer)
D

(D) O C (Chosen option)
C

Question No.40

Find the missing term in the given series.
30, 54, 126, ?, 294, 366
& 12 goft B g Tvem F1a S|
30, 54, 126, ?, 294, 366
(A) O 186 (Chosen option)
186
(B) O 174 (Correct Answer)
174
(C)O 182
182
(D) O 172
172
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